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M. Com. (Fourth Semester) (Main/ATKT)  
EXAMINATION, 2020 

(Optional-Specialization) 
[Optional Group (D) : Taxation and Accounting] 

Paper-D–IV 
ACCOUNTING METHODS 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 
 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  
(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 
(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 
 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- iqLrikyu dh ,dy izfof”V iz.kkyh dk vk’k; gS % 
¼v½ izR;sd O;ogkj dh dsoy ,d izfof”V 
¼c½ viw.kZ f}&izfof”V iz.kkyh 
¼l½ nksuksa izfof”V;k¡ dsoy ,d [kkrs esa  
¼n½ buesa ls dksbZ ugha  
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Meaning of single entry system of book-keeping is : 

(a) Only one entry for each transaction  

(b) Incomplete double entry system  

(c) Both entries in one account only  

(d) None of these 

2- ,dy izfof”V iz.kkyh ds vUrxZr ys[ks j[ks tkrs gSa % 

¼v½ ukeek= ,oa okLrfod ys[ks 
¼c½ ukeek= ,oa O;fDrxr ys[ks 
¼l½ jksdM+ iqLrd ,oa O;fDrxr ys[ks 

¼n½ lHkh izdkj ds ys[ks 
Accounts are maintained in single entry system : 

(a) Nominal and Real Account 

(b) Nominal and Personal Account 

(c) Cash Book and Personal Account 

(d) All Accounts 

3- voLFkk&fooj.k rS;kj fd;k tkrk gS] x.kuk djus ds fy, % 

¼v½ vkfFkZd fLFkfr dh  
¼c½ nkf;Roksa dh  

¼l½ lEifŸk;ksa dh 
¼n½ iw¡th dh  
The statement of affairs is prepared for calculation of : 

(a) Economic Condition  

(b) Liabilities  

(c) Assets  

(d) Capital  
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4- o”kZ ds izkjEHk esa iw¡th ` 4,00,000 gSA o”kZ eas lEifŸk;ksa esa ` 2,00,000 

dh of̀) gqbZ rFkk nkf;Ro esa ` 25,000 dh deh gqbZ gSA ykHk ;k gkfu 
dh x.kuk dhft, % 

¼v½ ` 2,25,000 ykHk 
¼c½ ` 5,75,500 gkfu 
¼l½ ` 1,75,000 ykHk 
¼n½ ` 2,25,000 gkfu 

The capital at the beginning of the year is ` 4,00,000. The 
assets are increased to ` 2,00,000 and liabilities are reduced 
by ` 25,000 in the current year. Calculate the profit or loss : 

(a) ` 2,25,000 profit 

(b) ` 5,75,500 loss 

(c) ` 1,75,000 profit 

(d) ` 2,25,000 loss 

5- lEifŸk;k¡ ` 5,90,000 ,oa nkf;Ro ` 4,65,000 gSA varj dh jkf’k 
gksxh % 

¼v½ iw¡th 

¼c½ ykHk 
¼l½ ysunkj 
¼n½ bueas ls dksbZ ugha  
Assets ` 5,90,000 and Liabilities ` 4,65,000. The difference 
is : 

(a) Capital  

(b) Profit  

(c) Creditors  

(d) None of these 
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6- vUrfoZHkkxh; O;ogkj esa oLrqvksa dk gLrkarj.k] ykxr ewY; ij gksus ij 
bldk mYys[k gksxk] gLrkarj.kdŸkkZ foHkkx ds % 

¼v½ O;kikj ys[kk ds lekdyu i{k esa  
¼c½ O;kikj ys[kk ds fodyu i{k esa 

¼l½ ykHk&gkfu ys[kk ds fodyu i{k esa 

¼n½ ykHk&gkfu ys[kk ds lekdyu i{k esa 

The entry of transfer of goods for inter-departmental 
transactions will be recorded in the department of transferor : 

(a) In the credit side of the Trading A/c 

(b) In the debit side of the Trading A/c 

(c) In the debit side of the Profit & Loss A/c 

(d) In the credit side of the Profit & Loss A/c 

7- tks O;; foHkkxh; ugha gSa mUgsa % 
¼v½ foHkkxksa esa fcØh ds vuqikr esa fy[kk tkrk gSA 

¼c½ lkekU; ykHk&gkfu ys[kk esa ys tk;k tkrk gSA  

¼l½ foHkkxksa eas lEifŸk;ksa ds vk/kkj ij fy[kk tkrk gS tks muesa yxh 
gSaA  

¼n½ buesa ls dksbZ ugha  
The expenses which are not departmental : 

(a) are charged to departmental in sales ratio.  

(b) are charged to general Profit & Loss Account.  

(c) are charged to departments in the ratio of Assets 
employed thereto. 

(d) None of these 

8- vafre LdU/k dh jkf’k Kkr djus ds fy, cukuk gksrk gS % 
¼v½ eq[; dk;kZy; dk LdU/k [kkrk  
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¼c½ ‘kk[kk [kkrk  

¼l½ Lekjd LdU/k [kkrk  

¼n½ eq[; dk;kZy; dk [kkrk  
In order to find out the amount of closing stock we have to 
prepare : 

(a) Head Office Stock A/c 

(b) Branch Account  

(c) Memorandum Stock A/c 

(d) Head Office A/c 

9- fons’kh ‘kk[kk dh n’kk eas eq[; dk;kZy; vkSj ‘kk[kk }kjk ys[ks j[ks 
tkrs gSa % 

¼v½ vius&vius ns’k dh eqnzk esa  

¼c½ fons’kh eqnzk eas  

¼l½ eq[; dk;kZy; dh eqnzk eas  
¼n½ ‘kk[kk dk;kZy; ds ns’k dh eqnzk eas  
In case of foreign branch the account in Head Office and 
Branch Office are kept : 

(a) In their own currency  

(b) In foreign country’s currency  

(c) In the made of head office currency  

(d) In the made of branch office country’s currency  

10- fons’kh ‘kk[kk dh n’kk eas ysunkjksa dh jkf’k cnyrh tkrh gS % 

¼v½ izkjfEHkd nj ij 
¼c½ vafre nj ij 
¼l½ vkSlr nj ij 

¼n½ buesa ls dksbZ ugha  
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In case of foreign branch the amount of creditors will be 
converted in : 

(a) Opening rate 

(b) Closing rate 

(c) Average rate 

(d) None of these 

11- fcykliqj ‘kk[kk us iz/kku dk;kZy; }kjk fcykliqj esa Ø; fd;s x;s  
` 25,500 ds QuhZpj dk Hkqxrku fd;kA bu O;ogkj dh iz/kku 
dk;kZy; dh iqLrdksa esa ys[kk djus gsrq izfof”V gksxh % 
¼v½ jk;iqj ‘kk[kk ys[kk  fodfyr 

   QuhZpj ys[kk ls  
¼c½ QuhZpj ys[kk  fodfyr 
   cSad ys[kk ls  

¼l½ QuhZpj ys[kk  fodfyr 

   fcykliqj ‘kk[kk ys[kk ls  
¼n½ buesa ls dksbZ ugha  
Bilaspur Branch paid ` 25,500 for furniture purchased by the 
Head Office in Bilaspur. To record this transaction in the 
books of Head Office the entry would be : 

(a) Raipur Branch A/c  Dr.  

   To Furniture A/c 

(b) Furniture A/c Dr.  

   To Bank A/c 

(c) Furniture A/c  Dr.  

   To Bilaspur Branch A/c 

(d) None of these 
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12- ;fn ‘kk[kk dks ykxr 1
33 %

3
  tksM+dj ` 2,00,000 ds chtd 

ewY; dk eky Hkstk x;k gS] rks ykxr ewY; gksxk %  

¼v½ ` 1,87,500 
¼c½ ` 1,80,000 

¼l½ ` 1,50,000 
¼n½ ` 1,33,335 
If the Head Office has despatched goods on invoice price at 

the rate of cost 
1

33 %
3

  of ` 2,00,000. The cost price of 

goods will be : 

(a) ` 1,87,500 

(b) ` 1,80,000 

(c) ` 1,50,000 

(d) ` 1,33,335 

13- foØ; ewY; ij 25% ykHk dk vFkZ gS ykxr ij % 

¼v½ 1
33 %

3
 

¼c½ 25% 

¼l½ 2
16 %

3
 

¼n½ 10% 
The meaning of 25% profit on sales in cost is : 

(a) 
1

33 %
3

 

(b) 25% 

(c) 
2

16 %
3

 

(d) 10% 
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fuEukafdr ds mŸkj ^gk¡* ;k ^ugha* esa nhft, % 

Answer the following in ‘Yes’ or ‘No’ : 

14- voLFkk fooj.k rS;kj fd;k tkrk gS&vkfFkZd fLFkfr dh x.kuk ds 
fy,A  

The statement of affairs is prepared for calculation of 
economic condition.   

15- izslhMsUlh VkmUl fnokyk vf/kfu;e fnYyh] dydŸkk] eqEcbZ vkSj psUubZ 
eas ykxw gksrk gSA  

Presidency Towns Insolvency Act applies in Delhi, 
Calcultta, Mumbai and Chennai.  

16- ;fn deZpkfj;ksa dh la[;k dk mYys[k u gks rks osru ;k etnwjh dh 
jkf’k] fdlh Hkh fnokyk vf/kfu;e esa iwokZf/kdkjh ugha ekuh tkrh gSA  

If number of employees are not given then the amount of 
salaries or wages are not treated as preferential in any of the 
Insolvency Act.  

17- fnokfy;k QeZ }kjk fdlh lk>snkj dh O;fDrxr lEifŸk dh izfrHkwfr 
ij fy;k x;k _.k QeZ ds voLFkk fooj.k esa lwph (A) eas vjf{kr 
ysunkj ds :i esa n’kkZ;k tk;sxkA  

Loan taken over by an insolvent firm, on the security of 
personal assets of partner is shown in list ‘A’ as unsecured 
creditor in the firm’s statement of affairs.  

18- eky ds vkarfjd foHkkxksa eas gLrkarj.k ds vizkI; ykHk ds fy, LdU/k 
lap; dks lkekU; ykHk&gkfu ys[kk esa ys tk;k tkrk gSA  

Stock reserve for unrealized profits for inter-departmental 

transfer of goods is charged to general Profit & Loss 

Account.  
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19- xr o”kZ ds ‘ks”k eky dk mYys[k vkHkklh o”kZ esa ‘kk[kk ys[kk ds 
fodyu ¼ukes½ i{k esa ‘kk[kkvksa dks izsf”kr eky ys[kk ds :i eas gksxkA  

The Balance of the last year goods will be on the debt side of 
the coming year of the branch account in shape of goods sent 
to branches.  

20- eq[; dk;kZy; }kjk Lora= ‘kk[kk dh ijh{kk lwph dh lEifŸk i{k ds 
enksa ds lekesyu esa ‘kk[kk ys[kk fodfyr ¼ukes½ gksxkA 

Incorporation of trial balance of the independent branch will 
be debited in the Branch Account by the Head Office.  

 [k.M&c  

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh vkB iz’uksa ds mŸkj nks ;k rhu okD;ksa esa fyf[k,A izR;sd iz’u 
2 vadksa dk gSA  

 Write answer of all eight questions in two or three 
sentences. Each question carries 2 marks.  

1- ^nsunkj ys[kk* ,oa ^ysunkj ys[kk* esa D;k&D;k ensa fy[kh tkrh gSa \ 
Write the items of ‘Debtors Account’ and ‘Creditors 
Account’.  

2- o”kZ ds izkjEHk esa vnŸk fdjk;k ` 5,750 rFkk o”kZ ds var esa vnŸk 
fdjk;k ` 8,750 gSA bldk ykHk ij izHkko crkb,A  
In the beginning of the year outstanding rent is ` 5,750 and 
in the year ending outstanding rent is ` 8,750. What be the 
effect on profit ? 

3- ghurk ys[kk dk ,d izk:i rS;kj dhft,A 

Prepare a pro forma of Deficiency Account.  
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4- ^’kk[kk ys[kk* ls vki D;k le>rs gSa \ 

What do you understand by ‘Branch Account’ ? 

5- eq[; dk;kZy; us ‘kk[kk dks ykxr + 25% ij eky cspkA ;fn ykxr 
ewY; ` 20,000 gks] rks chtd ewY; D;k gksxk \ 

The Head Office supplied goods to branch at the rate of cost 

+ 25%. If the cost price is ` 20,000, calculate the invoice 
price.  

6- ekuo lalk/ku ys[kkadu D;k gS \ 

What is Human Resources Accounting ? 

7- varfoZHkkxh; O;ogkj D;k gS \ 
What is Inter-departmental transaction ?  

8- ^voLFkk&fooj.k* ls vki D;k le>rs gSa \ 
What is ‘Statement of Affairs’ ? 

 [k.M&l  
(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh vkB iz’uksa ds mŸkj 75 ‘kCnksa esa nhft,A izR;sd iz’u 3 vadksa 
dk gSA  

 Attempt all the eight questions in about 75 words. Each 
question carries 3 marks. 

1- ,dy izfof”V iz.kkyh ,oa nksgjh izfof”V iz.kkyh dk vUrj Li”V 
dhft,A  
Differentiate between Single Entry System and Double Entry 
System.  

2- izkjfEHkd ,oa vafre LdU/k dh x.kuk dhft,A  
Explain the calculation of opening and closing stock.  
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3- voLFkk&fooj.k dk izk:i dkYifud la[;kvksa ds vk/kkj ij rS;kj 

dhft,A  

Prepare a pro forma of statement of affairs giving imaginary 
figure.  

4- ^’kk[kk lek;kstu [kkrk* ls vki D;k le>rs gSa \ 
What do you understand by the term ‘Branch Adjustment 
Account’ ? 

5- iV~Vk ,oa vf/kdkj ‘kqYd esa vUrj Li”V dhft,A  
Distinguish between Lease and Royalty.  

6- ewY; Lrj eas ifjorZu ds fy, ys[kkadu ds ykHkksa dk o.kZu dhft,A  
Discuss the merits of accounting for price level changes.  

7- iwoZizkfir foi=ksa ij lEHkkO; nkf;Ro dk mYys[k voLFkk fooj.k ,oa 
ghurk ys[kk esa fdl i{k esa gksxk \ 
In which side contingent liability of bills discounted is 
shown is Statement of Affairs and Deficiency Account ? 

8- o”kZ ds var dh iw¡th dh x.kuk dhft, % 
                                                                                   ` 

(i) pkyw o”kZ dh vfrfjDr iw¡th  1,25,000 

(ii) pkyw o”kZ esa vkgj.k  50,000 
(iii) o”kZ ds izkjEHk dh iw¡th 12,15,000 
(iv) pkyw o”kZ eas vftZr ykHk 60,000 

Calculate the capital at the end of year : 

                                                                                   ` 

(i) Additional Capital in the current year 1,25,000 

(ii) Drawing of Current Year 50,000 

(iii) Capital at the beginning of year  12,15,000 

(iv) Profit earned during the year  60,000 
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 [k.M&n  
(Section—D) 

nh?kZ mŸkjh; iz’u 
(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj yxHkx 150 ‘kCnksa esa nhft,A izR;sd iz’u  
5 vadksa dk gSA  

 Attempt all questions in about 150 words. Each question 
carries 5 marks. 

1- ßviw.kZ ys[ks u gh oSKkfud gSa u gh fo’oluh;AÞ Li”V dhft,A  
“Incomplete records are neither scientific, nor faithful.” 
Explain.  

vFkok 
(Or) 

,d O;kikjh] tks iw.kZ iqLrdsa ugha j[krk] vkils 31 ekpZ] 2020 dks 
lekIr gksus okys o”kZ ds fy, vafre [kkrs rS;kj djus dks dgrk gSA 
vkius fdlh izdkj fuEufyf[kr lwpuk,¡ izkIr dha % 
(i) jksdM+ iqLrd dk lkjka’k % 

 ` 

1 vizSy] 2019 dks gLrLFk jksdM+ 25,850 

nsunkj ls izkIr 2,10,250 

O;fDrxr vkgj.k 15,000 

ysunkj dks Hkqxrku 1,62,000 

osru 12,500 

fdjk;k 6,000 

fo|qr O;; 1,750 

ys[ku lkexzh ,oa NikbZ 1,250 

foKkiu 2,250 
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(ii) mldh vU; lEifŸk;k¡ ,oa nkf;Ro % 

 31 ekpZ] 
2019 
(`) 

31 ekpZ]  
2020 
(`) 

vnŸk foKkiu O;; — 1,250 

vnŸk fo|qr O;; 100 75 

vnŸk fdjk;k 500 500 

ysunkj mŸke.kZ 7,000 17,500 

nsunkj 16,750 25,500 

31 ekpZ] 2020 dks LdU/k dk ewY; ` 22,500 gSA ijUrq O;kikjh ds 
ikl izkjfEHkd LdU/k ds lEcU/k esa dksbZ lwpuk ugha gSA og vkidks 

lwpuk nsrk gS fd mlus viuk eky ykxr ewY; ij 1
3

33 %  lfgr 

cspk gSA  

vki 31 ekpZ] 2020 dks nsunkj ys[kk] ysunkj ys[kk rFkk izkjfEHkd 
iw¡th dh x.kuk dhft,A   

A trader who has not kept a complete set of books, asks you 
to prepare his final accounts for the year ended 31st March, 
2020. You are however, able to obtain the following 
informations : 

(i) Summary of cash book : 

 ` 

Cash in hand as on 1st April, 2019 25,850 

Recepits from debtors  2,10,250 

Personal Drawing  15,000 

Payment to Creditors  1,62,000 

 [ 14 ] D–132 

 (B-20) 

Salaries  12,500 

Rent  6,000 

Electricity Charges  1,750 

Printing and Stationery  1,250 

Advertising  2,250 

(ii) His other assets and liabilities were : 

 As on  
31 March, 

2019 (`) 

As on  
31 March, 

2020 (`) 

Advertising expenses 
outstanding 

— 1,250 

Electricity charges outstanding 100 75 

Rent outstanding  500 500 

Creditors  7,000 17,500 

Debtors  16750 25,500 

The stock on 31st March, 2020 was valued at ` 22,500; but 

the trader has no record of the opening stock. He informs 

you, however, that he invariably sold his goods at cost  

plus 1
3

33 % . 

Calcuate  (i) Debtors Account, (ii) Creditors Account, 

(iii) Opening Capital. 

2- foHkkxh; ys[kksa ds mís’; ,oa ykHkksa dk o.kZu dhft,A  

Describe the objects and advantages of Departmental 

Accounts.  



 [ 15 ] D–132 

 (B-20) P. T. O. 

vFkok 

(Or) 

fcykliqj ds ,d pkoy fey dh ,d foØ; ‘kk[kk fnYyh esa gS tgk¡ 

oLrq,¡ ykxr 1
3

33 %  ewY; ij Hksth tkrh gSaA ,slh O;oLFkk gS 

ftlls ‘kk[kk izfrfnu izkIr psd jkf’k iz/kku dk;kZy; dks Hkst nsrh gSA 

‘kk[kk ds leLr O;; eq[; dk;kZy; }kjk pqdk;s tkrs gSaA ‘kk[kk dks 

cgqr de m/kkj foØ; dh vkKk gSA fuEufyf[kr fooj.k ls LdU/k ,oa 

nsunkj i)fr ls ‘kk[kk dk ykHk Kkr dhft, % 

 ` 

‘kk[kk ds nsunkj ¼1 vizSy] 2019½ 3,750 

‘kk[kk dk LdU/k ¼1 vizSy] 2019½ 30,000 

‘kk[kk dks Hksth xbZ oLrq 2,00,000 

eq[;k dk;kZy; dks Hksth xbZ jksdM+ 3,10,000 

‘kk[kk dk fdjk;k rFkk dj 8,000 

‘kk[kk ds vU; O;; 12,000 

‘kk[kk ds nsunkj ¼31 ekpZ] 2020½ 4,000 

‘kk[kk dk LdU/k ¼31 ekpZ] 2020½ 37,000 

A rice mill at Bilaspur has a selling branch at Delhi and 

charges all goods sent to the branch at cost 1
3

33 % . It is 

arranged that all cash received by the branch is to be paid 
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daily to the Head Office. All branch expenses are to be paid 

by the Head Office. The branch is to effect very little credit 

sales. From the following particulars, find out branch profit 

by the stock and debtors system : 

 ` 

Debtors of Branch (On 1st April, 2019) 3,750 

Stock at branch (On 1st April, 2019) 30,000 

Goods supplied to branch  2,00,000 

Cash sent to Head Office  3,10,000 

Branch rent and taxes  8,000 

Other expenses at branch  12,000 

Debtors of Branch (On 31st March, 2020) 4,000 

Stock at Branch (On 31st March, 2020) 37,000 

3- fuf[ky us fuEukafdr lwpukvksa ds vk/kkj ij U;k;ky; esa fnokfy;k gsrq 

vkosnu fd;kA voLFkk&fooj.k ,oa ghurk ys[kk crkb;s % 

(i) iw¡th    ` 40,000 

O;kikfjd gkfu ` 35,000 

iw¡th ij C;kt ` 7,500 

xSj&O;kikfjd ykHk ` 9,500 

xSj&O;kikfjd gkfu  ` 4,500 

(ii) mŸke.kZ  ` 40,000 

ns; foi=  ` 10,000 

cSad vf/kfod”kZ ` 5,000 
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(iii) vf/kdks”k _.k ` 30,000 ¼` 35,000 ds ;a= dh izfrHkwfr ij½ 

rFkk va’kr% izfrHkwfr mŸke.kZ ¼;a= ds vfrjsd ij f}rh; 

izkf/kdkj½  ` 15,000 

(iv) Hkou   ` 25,000 ¼40% jksdhdr̀½ 

miLdj   ` 12,500 ¼60% jksdhdr̀½ 

izkIr foi= ` 10,000 ¼le ewY;½ 

fofu;ksx  ` 30,000 ¼50% jksdhdr̀½ 

jksdM+   ` 8,000 

(v) fofo/k v/ke.kZ % ‘kq) ` 12,000 

             lafnX/k ` 10,000 ¼1@5 olwyh½ 

vf/kekU; mŸke.kZ ` 25,000 

Nikhil presented the following information in the Court an 

application for insolvency. Prepare Statement of Affairs and 

Deficiency Account : 

(i) Capital  ` 40,000 

Trading Loss ` 35,000 

Interest on Capital ` 7,500 

Non-trading Profit ` 9,500 

Non-trading Loss ` 4,500 

(ii) Creditors  ` 40,000 

Bills Payable  ` 10,000 

Bank Overdraft ` 5,000 

(iii) Bank loan ` 30,000 (Mortage a machine of ` 35,000) 

and Party secured creditors (Second mortage  

on surplus of machine) ` 15,000 
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(iv) Building  ` 25,000 (40% Realized) 

Furniture ` 12,500 (60% Realized) 

Bills receivable ` 10,000 (At par) 

Investment  ` 30,000 (50% Realized) 

Cash    ` 8,000 

(v) Sundry Debtors : Good ` 12,500 

                            Doubtful ` 10,000 (1/5 recovered) 

Preferential creditors ` 25,000 

vFkok 

(Or) 

fe- jkts’k tks fnokfy;k gS] 31 fnlEcj] 2019 dks fuEufyf[kr lwpuk,¡ 

vkidks nsrk gS % 

 ` 

iw¡th 1,00,000 

vkgj.k 63,600 

‘kq) gkfu 79,000 

jksdM+ 400 

QuhZpj ¼vuqekfur izkI; jkf’k ` 10,500½ 17,500 

e’khujh ¼vuqekfur izkIr jkf’k ` 12,000½ 29,500 

iwokZf/kdkj ysunkj 26,000 

fofo/k ysunkj 64,000 

fe- jkts’k dk voLFkk fooj.k ,oa ghurk ys[kk cukb;sA 
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Mr. Rajesh is insolvent. He supplies to you the following 
information as on 31st Dec., 2019 : 

 ` 

Capital  1,00,000 

Drawing 63,600 

Net less 79,000 

Cash 400 

Furniture (Estimated to realized ` 10,500) 17,500 

Machinery (Estimated to realized ` 12,000) 29,500 

Preferential Creditors  26,000 

Sundry Creditors 64,000 

Prepare Statement of Affair and Deficiency Account of  
Mr. Rajesh.  

4- lkekftd ys[kkadu ls vki D;k le>rs gSa \ blds eq[; mís’;ksa dk 
o.kZu dhft,A  

What do you understand by Social Accounting ? Discuss its 
main objectives.  

vFkok 
(Or) 

iV~Vk [kkrk ds mís’;ksa ,oa egRo dks le>kb,A  

Explain the importance and objectives of Lease Account.  
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